CSCI 201: Final Exam Sample Questions:
Problem 1 (Arrays)

Write a segment of code (it does not need to be a complete program) to do the following:

1. Declare an array large enough to hold 100 integers.

2. Set the value stored in each element of the array to be equal to its index position

3. Print the array to the monitor writing each element on a separate line.

Problem 2 (tvectors)

Write a segment of code (it does not need to be a complete program) to do the same thing as described in problem 1 using tvectors instead of arrays:

1. Declare a tvector of integers.

2. For 100 elements, set the value stored in each element of the tvector equal to its index position

3. Print the tvector to the monitor writing each element on a separate line.

Problem 3 (Write a function)

Write a function called Reverse() to read the words in a file and print those words to the monitor in reverse order.  The name of the file will be passed as a parameter to Reverse().  You will need to use either arrays or tvectors in implementing this function.  The header of the function is given below along with an example of its output.

void Reverse(string filename);

Given a file containing "I can read."

The program should print out:

read.

can

I

Problem 4 (Definitions)

Name three advantages of  tvectors over arrays.

ANS: 
(1) easy to initialize


(2) do not need to know the size in advance


(3) can’t go out of bounds


(4) can use the size function to determine the number of elements in the vector

Problem 5 (structs)

Create a struct named testy with 3 data members: (1) a string variable, (2) a float variable, and (3) an array of 10 integers.  You may name the data members anything you like.

ANS:


struct testy


{


    string myString;


    float myFloat;


    int myArray[10];


}

Problem 6 (Debugging)

Find at least 3 errors in the program below.  Line numbers are included for your convenience.

1   #define
SIZE 100    

2   struct WordCount

3   { 

4   string word;

5   int count;

   6   };

7  main()

8  {

9      WordCount words[SIZE];

   10     string w;

   11     ifstream input;

   12     input.open(“TextFile.txt”);

   13     while (input >> w)

   14     {

   15        words[i]=w;

   14     }

   15     cout << "read " << words.size() << " words" << endl;

   16     cout << "last word read is " << words[100].word << endl;

   18  }

ANS:

(1) on line 14, the integer i was not declared or initialized

(2) on line 14, the word data member must be accessed: words[i].word = w;
(3) the integer i is never incremented.
(4) arrays do not have a size function so words.size() on line 15 is not a legal function call
(5) on line 16, index 100 (i.e., words[100].word) is out of the bounds of the array.
